TOLSEN CONCRETEMIXER | 79952 79953

Part Description Qty. Part Description Qty.
1 Power cord 1 31 stents 1
2 The motor housings 1 32 tierod 1
3 Screw M5x12 6 33 Pedal 1
4 Washer M5 8 34 stents 1
5 Nut M5 9 35 Lock Nut M8 1
6 Switch 1 36 screw M8x70 1
7 Ring ¢ 38 3 37 Pin 2
8 Iron tube fixture 2 38 washer ¢ 27 4
9 Spring washers M8 5 39 Atripod 1
10 Washer M8 9 40 wheel 2
n Screw M8x25 2 41 motor 1
12 shaft 1 42 Internal engine base 1
13 Bearing 6002 2 43 screw M8x%12 3
14 Lower Drum 1 44 Spring washers M5 6
15 Large plain washer 1 45 belt 1
16 Upper Drum 1 46 belt pulley 1
17 Screw M8X16 2 47 External engine base 1
18 Screw M6%16 6or8 48 Nylon gaskets 1
19 washer M6 6or8 49 Ring ¢ 30 1
20 Mixer Blade 2 50 screw M8x55 1
21 cross head screws M6x12 6or8 51 screw M14x30 1
22 Gearring 1 52 washer M14 1
23 screw M8x16 4 Bearing 6205 CM100-CM120)/

24 steering wheel 1 53 Bearing 6006 CM135-CM155)/ 2
25 Spring 1 Bearing 6007 CM165-CM240)

26 Locating rod 1 54 stents 1
27 Spring seat 1 55 gear 1
28 Nut M8 100r12 56 Ring ¢ 15 1
29 screw M8x65 2 57 shaft 1
30 screw M8x65 4or6




TOLSEN CONCRETEMIXER | 79952 79953




